St. Francis Xavier School
Session: 2022-2023
English Language & Literature
Sample Question Paper
Class — VII
Time: 1 Hour Maximum Marks: 40
General Instructions:
The Question Paper contains THREE sections. Section A: Reading Comprehension, Section
B: Grammar and Writing, Section C: Literature
Section: A (Comprehension) 8 Marks

Question 1

Read the following passage and answer the questions.

When Mary Kom returned from the London Olympics, she was given a hero’s welcome. She had

made the whole of India and Manipur in particular, proud by winning the bronze medal in

boxing,

Mary’s interest in boxing was inspired by the success of the Asian Games gold-medalist Dingko

Singh, who was from Manipur. Mary an all-round athlete wanted to try out boxing. She began

boxing in 2000 and she was a quick learner. By choice, she preferred to go through the same

training as men. In just two weeks, she had learnt all the basics of the sport. She realised then
that she had a real talent for boxing.

She tried to keep her interest in boxing hidden from her parents. But they soon found out the
truth when she won the State championship in 2000 and her photographs appeared in the
newspapers. Although her parents initially against her taking up a tough sport like
boxing, they quickly gave in when they saw how committed she was to the sport.

From then on, there was no looking back. Mary Kom won the Second Asian Women’s
Championship and continued it with a win in the third. In 2003, she received the
prestigious Arjuna award- the first women ever to receive the award for boxing.

Many successes followed and her biggest dream was to represent India in the Olympics. After
her return she said, “London has been a dream fulfilled.”

Answer the questions briefly:

i) Why was Mary Kom given a grand welcome when she returned from the London
Olympics? [2]

i) How did Mary’s parents find out her interest in boxing? [2]

iii) Mention two achievements of Mary Kom? [2]

iv) Find words from the passage which mean the following? [1+1=2]

a) A natural ability with a superior quality
b) Dedicated to some activity.

Section: B (Writing and Grammar) 18 Marks
Question 2
Select any one of the following: 8
) Write a letter to your cousin describing your first experience of visiting shopping

mall.



i) Write a letter to your friend describing how you, along with a group of friends, intend
to undertake cleanliness drive in your school.

Question 3
a) Fill in the blanks with the correct form of the given verb: 3
1) On my way to school, | usually................. (meet) people who .......... (go) to
work.
i) Sharon usually............. (spend) her holidays with her family, but this year
she................ (stay) at home to study.
iii) She was reading when the bell............... (ring)
iv) An honest man never ............. (tell) a lie.
b) Fill in the blanks with appropriate words: 3
i) My sister was born......... the month of January.
i) We chatonly................ lunch hours.
iii)  Thadaburger............. the restaurant.
1v) They will complete the work........... tomorrow.
V) Tanay pulled the keys ............ his pocket and unlocked the door,
Vi) He was leaning ....................... the wall.
c) Do as directed: 4
) Did............ see anything? [ Fill in with an indefinite pronoun]

i) Bring me the books. They are lying on the table. [Join using a relative pronoun]
iii)  The sadder part of the movie was when the heroine dies. [ Rewrite correcting the

error.]
iv) Thereis............... milk left in the milk pot. [ Choose the correct quantifiers]
Section: C (Literature} 14 Marks

Question 4
a) Read the extract given below and answer the questions that follow:
‘Hush!” said the gentleman who had spoken first. “You know you’ve got no father or
mother, and that you were brought up in the parish, don’t you?’

) Where was Oliver? Why had he been brought there? [1+1=2]

i) What was Oliver expected to do the next day? How did Oliver receive this news?
[1+2=3]

iii) What opinion do you form about this gentleman? [2]

b) Read the extract given below and answer the questions that follows:
And there in the moonlight, dark with dew,
Asking not wherefore nor why,
Would brood like a ghost, and as still as a post,
Old Nicholas Nye.

)} What is ‘dark with dew’ in the moonlight? Why would Nicholas Nye not ask
‘wherefore nor why’? [1+2=3]

i) Name the figure of speech used in the third line of the extract?  [2]

i) What are the speaker’s feelings for Nicholas Nye? [2]



ST. FRANCIS XAVIER SCHOOL
Biology sample question paper
Class-VIlI
Time-1 hour Full marks-40

Attempt all questions

Question -1

We take small coloured flowers , such as petunia which has a soft stem. We keep the flowers
in a beaker or conical flask containing red coloured water (by pouring some red ink into the
water). We take care that the stem of the flower is dipped in water. We leave the setup for
half an hour and observe the flower. Answer the following questions based on this-

i) What does the set up demonstrate?

i)What is your observation?

iii) Explain your observation.

iv)Name the tissue responsible for their change shown here.

v)Name the different components of their tissue mentioned in (iv)

vi) In the above tissue is single or complex tissue.why? (8)

Question-2
Observe the along side figure carefully and answer the questions given below:

i) Identify the tissue.
i))Where will you find this tissue in our body?
iii)Write any 2 features by which you have identified the tissue.



iv) Are these tissues voluntary or involuntary in nature?
v)What is the function of this type of tissue?
vi)Name the other two types of category of the tissue.

(8)
Question-3
Identify the following diagram and answer the following set:

i) Name the organism and the kingdom to which it belongs.

1) This organism keeps changing its shapes continuously. Why?

iii) Name the organ of locomotion used by the organism.

iv) Name the organ of excretion and excretory products ,produced by them.

v) Name the process by which the organism reproduces annually during unfavorable
conditions. (8)

Question -4

Pick out the odd one out, giving reasons: (6)
i)Fungi, yeast, bacteria, mushroom.

ii) Cardiac, axon, smooth, skeletal.

iii) Lactobacillus, amoeba, staphylococcus,streptobacillus.

Question -5

Identify the following tissue: (5)
i)Plant tissue consisting of cells with thickened corners.

i) Tissue syposibile for the transportation of water in plants.

iii)Animal tissue having many nucleus.

IV)A fat storing connective tissue.

v)Multicellular,eukaryotic, autotrophic organisms.

Question -6

What will happen if? 5)
i) Stale bread is left incurred in moist condition.

ii) The soil does not contain any bacteria or fungi.

iii) Human blood is devoid of thrombocytes.

iv)Our blood contains less amount of erythrocytes.

v)Cardiac muscles take rest for a while.




ST FRANCIS XAVIER SCHOOL
SPECIMEN PRACTICE PAPER
SUBJECT- CHEMISTRY
CLASS-VII
TIME: 1hour FULL MARKS-40
Question 1.
A student was asked by his teacher to collect pollen grains from garden and put it
into a glass of water and record observations.
a) What can he observe?
b) What can be reason for his observation?
c) How can his observation be related to kinetic energy of pollen grains?  [3]
Question 2.

Choose the correct answer from the list given:- [5]
[fractional distillation, CaO, atoms, Hg, air]
I. a mixture

ii. process used to separate miscible liquids
iii. metal that exist as liquid
Iv. formula of calcium oxide

V. smallest particle of matter
Question 3.
Fill in the blanks by choosing options from brackets:- [10]
a. (solid/liquid/gas) cannot be compressed.
b. Symbol used for sodium is (S/Si/Na).
c. Oil and water are (miscible/ immiscible) liquids.
d. can exist independently( ions/charges/ molecules).
e. For gases intermolecular forces of attractionare __ (weak/strong).
f.  The number of combining atoms in a compound (may change/are
fixed).
g A (cohesive force/chemical bond) is much stronger than an
intermolecular force.
h. When water is added to quicklime heat energy is (released/absorbed).
i. Properties of compounds are (same/different) with those of its
constituents (elements/mixtures).
Question 4.
Study the diagram and answer the following: [7]

ey “ Raised Original
level level

Which is the solute and solvent here?
What type of change is taking place?
What are your observations?
d. What can be the probable reasons for those observations?
Question 5.

oo

A2B is the formula of a substance in which A and B are elements. Give
reasons for the following: [4]



i) property of A2B will not match with that of A and B.

i) It will be impossible to separate A and B from A2B by easy physical means.

iii) If A and B are mixed we do not get a proper formula of the substance obtained
after mixing them.

iv) A2B is a pure substance.

Question 6.
a) Give the formula of:- [3]

i) sulphuric acid

i) plaster of paris

iii) sodium hydrogen carbonate

b) Study the image and answer:- [3]

. Hot water 4

i) What is your observation?
i) What can be the scientific reason for your observation?
i) What happens to the liquid level when the bottle is taken out and allowed to

cool?
Question 7.
Rewrite the following sentences by replacing the incorrect words or phrases with
the correct ones:- [5]

a) Chlorine gas exists as a monoatomic molecule.

b) The variable valencies of gold are 2 and 3.

c) While writing formula the valencies are interchanged and written as
superscripts next to each part.

d) An atom is neutral as the electrons and neutrons are equal in number.

e) In periodic table elements with similar chemical properties appear in horizontal
rows.

THIS QUESTION PAPER CONTAINS TWO PRINTED PAGES.




ST. FRANCIS XAVIER SCHOOL
MODEL QUESTION PAPER
CLASS-VII
COMPUTER
QL. Fill in the blanks: [1x4=4]

a) Attribute used with tag is used to assign background color to the web page.

(b)A horizontal line can be drawn using

(© is an online discussion group among people who share common interest.

(d)Key used to refresh a webpage

Q2. Categorize the following as container or empty element and write any two attributes used
with it. [3x4=12]

<HR> <H6> <FONT>

TAG CONTAINER/EMPTY ATTRIBUTE
TAG
Q3. Correct and rewrite the following HTML codes: [2x2=4]

a)font style = “Arial” color = “green” TECHNOWORLD </strong></p>

b) hl color= “red” Information Technology hl

Q4. Write the HTML code for the following: [3x3=9]

a) To display the following in the font type ALGERIAN and size 24

INCREDIBLE INDIA

b) Heading MY PAGE should be displayed as fourth level of heading and placed in the center
¢) Insert an image “C:\abc.jpg” as the background of the image

Q5. Name the following : [1x5=5]

(a) Folder that contains list of all deleted mails

(b) Folder that contains all incoming emails

(c) First webpage of a website is known as its




(d) Symbols used to express the emotions while writing emails or chatting.
e) Name the attribute for adding a background color to a web page.
Q6) Choose the correct option: [1x6=6]

HTML tag to draw horizontal line:
a. <hl>

b. <hr>

c. <hline>

d. None of the above

The correct HTML code to display(P+Q)2 is:
a. <SUB>(P+) 2</SUB>

b. P+Q <SUP> 2 </SUP>

c. (P + Q)<SUP> 2 </SUP>

d. <SUP> (P+Q) 2</SUP>

Which HTML tags cause browsers to render text as italics?
a. <text style = “italics”></text>

b. <ital.></ital.>

c. <i></i>

d. <b></b>

The correct HTML code for inserting an image is a. <img href="image.gif”>
b. <img> image.gif</gif>

c. <image src = “image.gif”™>

d. <img src = “image.gif” >

attribute is used to specify the location of an image file.

a. alt
b. src
c. align
d. name

Which is the correct way to comment out something in HTML?
a. Using ## and #

b. Using <!-- and -->

c. Using </-- and -/->

d. Using <!-- and -!>



St. Francis Xavier School
Session: 2022 —-2023
Geography
Sample Question Paper
Class: VII
Time: 1 Hour Maximum Marks: 40
ATTEMPT ALL THE QUESTIONS

Question 1

Study the extract of the Survey of India Map Sheet No. 45D/7 and answer the following
questions:

i) What are vertical and horizontal red lines intersectng each other on the map called? How are
they useful in map reading?

ii)a) What does the green patch on the top left corner of the map depict?



b) State the means of transportation to be seen on the map, connecting the remote settlements of
the place shown in the map.

¢) What does the white patch in the north of the river reveal?
iii) Which features are depicted by the use of the following colours:
a) Yellow b) Black

¢) Which direction does the Banas river flow?

(NENNN |

1000 m 0 1 2 3 4 5 km

lcm=1km
a) What type of map scale is represented in the above diagram?

b) What is the R.F. scale of the above scale? [2+3+3+2]

Question 2
i) @) Which layer of the atmosphere is closest to the earth?
b) What is the approximate height of the closest layer at the poles and over the equator?
ii) State any two characteristic feature of Mesosphere.
iii) a) Which atmospheric layer is also known as ozonosphere?
b) Why is this layer ideal for flying jet planes?

iv) How does the atmosphere act as a protective shield for the earth? [2+2+3+3]

Question 3

Glaciers are melting faster, losing 31% more snow and ice per year than they did 15 years
earlier, according to the three- dimensional satellite measurements of all the world’s mountain
glaciers. Scientists blame human- caused climate change.

i) @) What is the term used for the cause of climate change due to human intervention?
b) Name few greenhouse gases that aggravate such climatic change.
i) How is this ‘human- caused climate change’ occur?

iii) What are the other consequences of increase of greenhouse gases in the atmosphere?



iv) Explain the effect of ozone depletion on:
a) Human health b) Plants ) Aquatic ecosystem [2+2+3+3]
Question 4

i) Give reason: On 21% June, northern hemisphere has summer solstice while southern
hemisphere has winter solstice.

i) State the types of precipitation and explain any one type of precipitation.

iii) Complete the following table:

ELEMENTS OF INSTRUMENT UNIT
WEATHER
Temperature Celsius or Fahrenheit
Pressure Barometer(Simple or
Aneroid)
Humidity Hygrometer Relative-
Absolute-
Rainfall Millimeters or Inches

Examine the above diagram answer the questions which follows:
a) What is the equatorial low pressure belt also known as?
b) In which direction does the wind blow?

¢) What is the cause of deflection of wind? [2+3+2+3]




St. Francis Xavier School
Sample Paper

History and Civics

Class. VII
Time 1 hr.
Part I. Answer all questions
Civics
1. Indiais a sovereign Nation .Explain . 2

2.How Indian people can develop fraternity and why? 2
3. Why India is known as a sovereign nation ? 1

History
4. Why did the foreign invaders came to India ? 2
5. Why Razia was removed from the throne and killled? 2
6. Muhammad been Tughlagq was known as the wisest fool

Explain. 1
Part Il
Answer all questions
Civics

7.The constitution describes all the laws of the country .explain
a. Whether the idea of socialism is fulfilled in India ornot ? 4
b.How did the view of secularism will be achieved in India?
C . Explain the term Republic.3

History Answer all questions.

3

F.M. 40

8.The Turkish rulers were interested to invade India for gaining wealth ,in this context explain:

a.Invasion of Mahmud of Ghazni 3

b. Conquests of Mohammad Ghori. 4
C. Effects of Turkish Invasion in India. 3
9.How did Balban develop his administration? 3

b.Ala ud Din developed his administrative policies to establish prominent rule in India,explain.

Economic policies and administrative policies.



ST FRANCIS XAVIER SCHOOL
CBSE SAMPLE PAPER [SESSION 2022-2023]
SUBJECT- MATHEMATICS
CLASS-VII
Maximum marks-40 Duration-1hour

General Instructions:-

i) All questions are compulsory.

il) This question paper contains 16 questions divided into four Sections A, B, C and D.

iii) Section A comprises of 4 questions of 1 mark each. Section B comprises of 4 questions
of 2 marks each. Section C comprises of 4 questions of 3 marks each and Section D
comprises of 4 questions of 4 marks each.

iv) Use of Calculators is not permitted.

SECTION- A4 x 1=4]

Using suitable properties, evaluate the following:-
1) 394 x 12 + 394 x (—2).

2) 1925 x 101 - 1925.

3) 23 x (—3) + (—23) x 97.

4) 625 x(- 35) + (-625) x 65.

SECTION-B[4 x2=8]
5) Find the angle which is equal to its complement?

6) Reduce the rational number % to standard form.

7) A shop has 500 shirts, out of which 15 are defective. What percentage of shirts are
defective?
8) Simplify the following: 23 + 18 +~ (8 — 2) + 3 X (—4).

SECTION-C [4 x 3=12]
9) Two complementary angles are (x + 4)° and (2x — 7)°. Find the value of x.

10) Shaheen walks Z km from a place P towards east and then from there 1% km towards west.
Where will be she now from P?
11) Express ;TS;) as a rational number with numerator - 5.

12) Draw a number line and represent the following rational numbers on it: ; and _—32

SECTION-D [4 x 4 =16]

13) Sujata reduced her weight by 10%. If now she weighs 41.4 kg, what was her original
weight?

14) If two are supplementary angles and one angle is 30° less than twice the other, find the

angles.

15) In a competition, the question paper consists of 20 questions. 5 marks are awarded for
every correct answer and 2 marks are deducted for every incorrect answer and 0 marks
for every question not attempted. Vishal attempted 17 questions and got 11 correct
answers. What is his score?

16) In a class test containing 12 questions, 5 marks are given for every correct answers and
(-2) marks are given for every incorrect answer and 0 marks are given for questions not
attempted. Ayushi gets 7 correct and 5 incorrect answers. What is her score?







ST. FRANCIS XAVIER SCHOOL
SUBJECT: PHYSICS

SAMPLE PAPER (Session 2022-2023)

CLASS - VII

Time: 1 Hr. FULL MARKS: 40
QUESTION 1:
Fill in the blanks : [6]

1. The distance travelled by a body in unit time is

2. The Sl unit of Speed is

3. 72 km/hr = m/s.

4. Object covering unequal distance in equal interval of time is known as

5. The resting position of a bob of a pendulum is called position.

6. Spardha has physics tuition every Tuesday at 5:00 pm. We can say the occurrence of this

phenomenon is

QUESTION 2:

Choose the correct option: [6]
1. A body is said to be in non-uniform motion:

a) If the speed and direction of the body remains constant.

b) The speed and direction of the body does not remain constant.

c) If covers equal distances in equal intervals of time.

d) None of the above.

2. Susmita was surprised to see the to and fro motion of a pendulum. Her father said that is
motion is also known as motion

a) Oscillatory.

b) Periodic.

c) Circulatory.

d) Both a) and b).

3. Which of these situations is closest example of uniform motion:

a) Car travelling on a busy straight road.

This paper consists of 4 pages.



b) Car travelling on a busy curved road.
c) Car travelling on an empty straight road.

d) Car travelling on an empty curved road.

4. A particle is travelling with constant speed. This means:
. Its initial velocity is 0

. Its final velocity is 0

. It covers equal distances in equal intervals of time.

. None of these

o 0T o

. The formula of distance is:
. Distance = time/speed.

. Distance = speed/time.

. Distance = 1/time.

. Distance = speed x time

o O T D99 O

6. 36 km/hr = m/sec
(@) 10m/s.

(b) 50 m/s.

(c) 18 m/s.

(d) 2.5 m/s

QUESTION 3:

Short answer types: [8]
1. Distinguish between uniform and non-uniform motion.
2. Justify the statement: Sitting in a classroom each student appears stationary to each other,
whereas actually they are in motion.
3. Write the significance of calculating average speed of a moving car.
4. Observe the following car and state whether the object is in uniform or non-uniform
motion.

This paper consists of 4 pages.



QUESTION 4:

Solve the following: [2 X 8=16]

1. In a bicycle race, three cycles are moving with the speeds of 18 Km/h, 7.5m/s, 0.18 km/min.
arrange this three in ascending order.

2. A car is moving with a speed of 72 km/h, calculate the distance covered in meter in 40 min.
3. A bus left from Dharmatala towards Siliguri. During up rides its speed is 72 km/h and during
return its speed is 108 km/h. calculate its average speed.

3. A train took 2 hr to reach a station B from station A and 3hr from B to A. The distance
between the stations A and B is 200 Km. calculate (i) the speed during up ride. (ii) Speed during
down ride. (iii) Average speed of this up-down journey.

4. During a long drive from Kolkata to Digha, a car travels first 100 km with 72 km/h and then
take a halt for 1hr for breakfast and then it covers rest 80 km in 40 min. Calculate the average
speed during this journey.

5. Calculate the time period of a simple pendulum if it takes 72 seconds to complete 24
oscillations.

6. Bojho covers 500m in 10 seconds and Paheli covers the same distance in 15 seconds. Who has
a greater speed?

7. A pendulum takes 0.5s to complete 1 oscillation about its mean position. How long will it take
to make 5 oscillations?

a. 5s

b. 7.5s
C. 2.5s
d. 10s

This paper consists of 4 pages.



8. Distance between Bholu’s and Golu’s house is 9 km. Bholu has to attend Golu’s birthday
party at 7 O’ clock. He started his journey from his home at 6 O’ clock on his bicycle and
covered a distance of 6 km in 40 min. At that point, he met Chintu and he spoke to him for 5 min
and reached Golu’s birthday party at 7 O’ clock. With what speed, did he cover the second part
of the journey? Calculate-his average speed for the entire journey.

QUESTION 5:

STUDY BASED:

1. Study the following examples carefully and identify which amongst these shows the periodic
motion. Give reason for the same. [2]
a) Needle of a sewing machine

b) Wheel of a bicycle

¢) Drill machine

d) Carpenter’s saw

2. Study the image and choose the most appropriate option. Justify. [2]

Time taken by the bob to move A to C is t1 and from C to O is t2. The time period of the simple
pendulum is:

a. (t1 +t2)

b. 2(t1 + t2)
c. 3(t1 + t2)
d. 4(t1 + t2)

This paper consists of 4 pages.
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ATTEMPT ALL THE QUESTIONS
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